
MATHS

BOOKS - NAGEEN PRAKASHAN ENGLISH

NUMBER SYSTEM

Solved Examples

1. Represents  on the number line.

Watch Video Solution

4

3

2. Find a rational number between -3 and 8.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8A1MfyutXsZ0
https://dl.doubtnut.com/l/_TEbkZ0bz30gE


3. Find three rational number between -1 and 7.

Watch Video Solution

4. Find 9 rational number between .

Watch Video Solution

and
1

3

1

2

5. Find 5 rational numbers between .

Watch Video Solution

− and
1

6

5

21

6. Find nine rational nember between 0 and 0.1.

Watch Video Solution

https://dl.doubtnut.com/l/_crPsGJaJ4DGa
https://dl.doubtnut.com/l/_DY96ff9kt3uG
https://dl.doubtnut.com/l/_KS5AYTmLSwXN
https://dl.doubtnut.com/l/_zORCCwYrYcgf


7. Without actual division, find which of the following rational numbers

have terminating decimal representation : 

Watch Video Solution

(i) ,            (ii) ,             (iii)
5

32

3

320
7
24

8. Express each of the following recurring decimals into the rational

number : 

Watch Video Solution

(i)0. 5̄       (ii)2. 4̄       (iii)1. ¯̄̄¯12         (iv)2.7̄ ¯̄̄39       (v)0. ¯̄̄ ¯̄¯516       (vi)3.7

9. If 
 , write the decimal expression of 

without actually doing the long division.

Watch Video Solution

= 0. 142857
1

7
, , , and

2

7

3

7

4

7

5

7

6

7

https://dl.doubtnut.com/l/_YP6V2a7grW9y
https://dl.doubtnut.com/l/_hHeLnwKftAoM
https://dl.doubtnut.com/l/_wtd95lE3VgVR


10. Evaluate 

Watch Video Solution

3. 2̄ − 0. ¯̄̄¯16

11. Express 0.99999 .... in the form . . Are you surprised by your answer?

With your teacher and classmates discuss why the answer makes sense.

Watch Video Solution

p

q

12. Find the decimal representation of 

Watch Video Solution

22

7

13. Prove that 
is an irrational number.

Watch Video Solution

√2

https://dl.doubtnut.com/l/_rXUJYXaUquc5
https://dl.doubtnut.com/l/_MRoII5vMbk97
https://dl.doubtnut.com/l/_noOP9xIof41c
https://dl.doubtnut.com/l/_HO11C53Jgkhg


14. Prove that  is an irrational or not .

Watch Video Solution

√3

15. Prove that 
is irrational.

Watch Video Solution

3 + 2√5

16. Represent  on the number line.

Watch Video Solution

√9.3

17. Represent  on the number line.

Watch Video Solution

√3.8

https://dl.doubtnut.com/l/_faBWsiXQLBFU
https://dl.doubtnut.com/l/_odJRLxpzPk8g
https://dl.doubtnut.com/l/_a2viKtck8WEC
https://dl.doubtnut.com/l/_OIDgPppD4aUC


18. Evaluate each of the following : 

Watch Video Solution

(i)23 × 22         (ii)35 ÷ 32         (iii)(52)
3

        (iv)( )
3

       (v)( )
3

4

2

3

19. If a=2 and b=5, then evaluate .

Watch Video Solution

ab + ba

20. Evaluate each of the following : 

Watch Video Solution

(i)(32)1 / 5           (ii)(27) − 1 / 3            (iii)( )
− 1 / 416

81

21. Evaluate each of the following : 

Watch Video Solution

(i)(√9)
− 3

                     (ii)(3√8)
− 2

https://dl.doubtnut.com/l/_UpEupwhWA8Uo
https://dl.doubtnut.com/l/_6sCA1PB9Diwr
https://dl.doubtnut.com/l/_Mx8sfl6OnjxV
https://dl.doubtnut.com/l/_ZtNC1GeGTzUx


22. Simplify each of the following : 

Watch Video Solution

(i)                        (ii)
(16) × (8)

5
4

4
3

(25) × (243)
3
2

3
5

2n + 2n− 1

2n+ 1 − 2n

23. Rewrite the following irrational numbers in ascending order of

magnitude. 

Watch Video Solution

(i)3√18, 6√144, √7                            (ii)3√12, √20, 6√25, √6, 12√112

24. If , find the value of .

Watch Video Solution

33x =
9

3x
x

25. Find the value of , if x 5x− 2 × 32x− 3 = 135

https://dl.doubtnut.com/l/_ZtNC1GeGTzUx
https://dl.doubtnut.com/l/_NRJeVNedf1QZ
https://dl.doubtnut.com/l/_4tGJMSmcBky5
https://dl.doubtnut.com/l/_L4kvqUUxNdID
https://dl.doubtnut.com/l/_HRM9KDtdtNnB


Watch Video Solution

26. Rationalise the denominator of .

Watch Video Solution

1

√5

27. Rationalise the denominator of .

View Text Solution

2 ⋅ 3√3

3√25

28. Rationalise the denominator of 

Watch Video Solution

11

5 + √3

29. Rationalise the denominator of .

Watch Video Solution

1

7 + 4√3

https://dl.doubtnut.com/l/_HRM9KDtdtNnB
https://dl.doubtnut.com/l/_uMvtdBmoeJpp
https://dl.doubtnut.com/l/_rwiNqqpwJ9LZ
https://dl.doubtnut.com/l/_argklOLHpqnQ
https://dl.doubtnut.com/l/_ZtiOY2xdcjUR


30. Rationalise the denominator of .

Watch Video Solution

√3 + √2

√3 − √2

31. Find the rationalising factor of .

Watch Video Solution

5 − 2
1
3

1
3

32. If , then find the value of 

Watch Video Solution

√2 = 1.414
1

2 + √2

33. Simplify each of the following by rationalising
 the denominator;


(ii) 
 
(iv) 

View Text Solution

1

5 + √2

5 + √6

5 − √6

7 + 3√5

7 − 3√5

2√3 − √5

2√2 + 3√3

https://dl.doubtnut.com/l/_xl94Hu5U623G
https://dl.doubtnut.com/l/_bwo2VLXmFDLY
https://dl.doubtnut.com/l/_4J4SYyx8DnAV
https://dl.doubtnut.com/l/_4fH54c5tl9EE
https://dl.doubtnut.com/l/_7rxs6s6Wjaup


34. Find the value of a and b if 

Watch Video Solution

(i) = a + b√3                 (ii) = a + b√3
√3 + 1

√3 − 1

5 + 2√3

5 − 2√3

35. Rationalise the denominator of the following : '

Watch Video Solution

1

√3 − √2 − 1

36. Find the value of:

Watch Video Solution

+ + + ...
1

1 + √2

1

√2 + √3

1

√3 + √4

1

√99 + √100

37. Compare the surds 

(i)  


(ii) 

Watch Video Solution

A = √10 − √5, B = √19 − √14

P = √10 + √5, Q = √8 + √7

https://dl.doubtnut.com/l/_7rxs6s6Wjaup
https://dl.doubtnut.com/l/_JwONA7ZHQuXl
https://dl.doubtnut.com/l/_qEoI1r1yI5k5
https://dl.doubtnut.com/l/_f8IVr1xJj3b0


Watch Video Solution

38. Evaluate : 

Watch Video Solution

(i)√3 − 2√2              (ii)√9 + 6√2

39. If  rational numbers  are equal and 

, then find the value of 

Watch Video Solution

3 x1 /x, y1 / y and z1 / z

xyz + yzx + zxy = 729 x1 /x

40. If , then find the values of the following : 


Watch Video Solution

x = √2 + 1

(i)          (ii)x +          (iii)x −        (iv)x2 +
1

x

1

x

1

x

1

x2

41. If , then prove that 

Watch Video Solution

x =
√a + 2b + √a − 2b

√a + 2b − √a − 2b
b2 − ax + b = 0

https://dl.doubtnut.com/l/_f8IVr1xJj3b0
https://dl.doubtnut.com/l/_ssObAgIVzsuO
https://dl.doubtnut.com/l/_A9MqmHyuaBJn
https://dl.doubtnut.com/l/_TKJHWissny2c
https://dl.doubtnut.com/l/_wOjIegp6bNMf


Problems From Ncert Exemplar

Watch Video Solution

42. If 
find the value of 

Watch Video Solution

x = ,
1

2 − √3
x3 − 2x2 − 7x + 5

43.  ,

Watch Video Solution

a = 9 − 4√5 √a − = ?
1

√a

1. Write the following in decimal form and say what kind of decimal

expansion each has :(i)  (ii)  (iii)  (iv)  (v)  (iv) 

Watch Video Solution

36

100

1

11
4

1

11

3

13

2

11

329

400

https://dl.doubtnut.com/l/_wOjIegp6bNMf
https://dl.doubtnut.com/l/_9gSe6JTaN7Yd
https://dl.doubtnut.com/l/_sKSKYWFXEWag
https://dl.doubtnut.com/l/_tQVRTOmFICgA


2. You know that Can you predict what the decimal

expansion of are, without actually doing the long

division? If so, how? [Hint: Study the remainders while finding the value of

carefully.]

Watch Video Solution

= 0. ¯̄¯̄¯̄¯̄¯̄¯̄142857
1

7

, , , ,
2

7

3

7

4

7

5

7

6

7

1

7

3. Recall, is defined as the ratio of the circumference (say c) of a circle to

its diameter (say d). That is, . This seems to contradict the fact the 

is irrational How will you resolve this contradiction?

Watch Video Solution

π =
c

d

π

4. Rationalise the denominators of the following:(i)  (ii) 

(iii)  (iv) 

Watch Video Solution

1

√7

1

√7 − √6
1

√5 + √2

1

√7 − 2

https://dl.doubtnut.com/l/_aLqYIhMJxpbl
https://dl.doubtnut.com/l/_gfI0Aw8VQtoi
https://dl.doubtnut.com/l/_O4wfl35SNSyR
https://dl.doubtnut.com/l/_BmKIN8Vd4yMA


Exercise 1 A

5. Find which of the variables  and  represent rational numbers

and which irrational numbers:(i)  (ii) (iii) (iv) 

Watch Video Solution

x, y, z u

x2 = 5 y2 = 9 z2 = 0.04

u2 =
17
4

6. Rationalise the denominator of the following :

Watch Video Solution

(a)          (b) (c)                            (d)        (e
2

3√3

√40

√3

3 + √2

4√2

16

√41 − 5

7. Find the values of a and b in each of the following : 

 

Watch Video Solution

(a) = a − 6√3                (b) = a√5 −
5 + 2√3

7 + 4√3

3 − √5

3 + 2√5

19
11

(c) = 2 − b√6              (d) − = a + √5b
√2 + √3

3√2 − 2√3

7 + √5

7 − √5

7 − √5

7 + √5

7
11

https://dl.doubtnut.com/l/_BmKIN8Vd4yMA
https://dl.doubtnut.com/l/_oi2WCCxb2DYm
https://dl.doubtnut.com/l/_Fn83wapFW0HY


1. Are the following statements true or false? Give
 reasons for your

answer?
 Every whole number is a natural number
 Every integer is a

rational number.
 Every rational number is an integer.
 Every natural

number is a whole number.
Every integer is a whole number
Every rational

number is a whole number

Watch Video Solution

2. Find a rational number between : 

Watch Video Solution

(i) and (ii) and − (iii) − and −
3

7

5

14

2

5

1

3

1

3

1

2

3. Find two rational number between : 

Watch Video Solution

(i) and
2

3

8

3

https://dl.doubtnut.com/l/_462qFjs01jw4
https://dl.doubtnut.com/l/_17jHm3mNh6wy
https://dl.doubtnut.com/l/_521zHVmcpcZZ


Exercise 1 B

4. Find three rational number between : 

Watch Video Solution

(i) and (ii) − and (iii) and
1

2
7
3

3

5

2

7

2

5

8

5

5. Find 9 rational numbers between .

Watch Video Solution

and
1

2

3

5

1. without actual division, find which of the following rational numbers

have terminating decimal representation : 

Watch Video Solution

(i)      (ii)        (iii)        (iv)         (vi)         (iv)
3

64

7
24

17

400

1

1250

7

80

2

5

https://dl.doubtnut.com/l/_e9dJ9AEcEuFx
https://dl.doubtnut.com/l/_fTZDk3i8Olmo
https://dl.doubtnut.com/l/_h1ptsycusqjp


2. Express each of the following recurring decimals into the rational

number : 

Watch Video Solution

(i)0. 7̄       (ii)0. 6̄       (iii)1. 3̄          (iv)3. 8̄

3. Express each of the following recurring decimals into the rational

number : 

Watch Video Solution

(i)0. ¯̄̄¯32       (ii)0. ¯̄̄¯56       (iii)3. ¯̄̄¯18          (iv)10. ¯̄̄¯13

4. Express each of the following recurring decimals into the rational

number : 

Watch Video Solution

(i)6. ¯̄̄ ¯̄¯315       (ii)7. ¯̄¯̄̄ ¯̄¯1641

https://dl.doubtnut.com/l/_4gmKrTrz29pb
https://dl.doubtnut.com/l/_qos4uxRWw1w8
https://dl.doubtnut.com/l/_UZmbCEL0lvTv
https://dl.doubtnut.com/l/_sreQs8qoEo58


5. Evaluate : 

Watch Video Solution

2. 5̄ − 0. ¯̄̄¯35

6. Evaluate : 

Watch Video Solution

2. 7̄ + 1. 3̄

7. Evaluate : 

Watch Video Solution

1. ¯̄̄¯45 + 0. 3̄

8. Find the decimal representation of . Deduce from itâ€™s the

decimal represtation of .

Watch Video Solution

1

11

, and
2

11

3

11
4
11

https://dl.doubtnut.com/l/_sreQs8qoEo58
https://dl.doubtnut.com/l/_jmlqXpn85gTK
https://dl.doubtnut.com/l/_ZhJKM79C1T8q
https://dl.doubtnut.com/l/_0PvEuj1TaGCN


Exercise 1 C

1. Fill in the blanks : 

(i) Every real number is either . . . . . . . . . . . . . . . Number or . . . . . . . . . . . . . . . .

number. 

(ii) The decimal representaion of rational number is either . . . . . . . . . . . . .or

. . . . . . . . .. . . . . . 

(iii) The decimal representation of an irrational number is . . . . . . . . . . . . . . 

(iv) The sum of two rational numbers is always . . . . . . . . . . . . .

Watch Video Solution

2. Examine whether the following numbers are rational or irrational : 

 


Watch Video Solution

(i)√5          (ii)√9          (iii)1 + √2         (iv)2 + √4

(v)√3 − √5          (vi)(2 + √2)
2

      (vii)(5 + √2)(5 − √2)      (viii)(

https://dl.doubtnut.com/l/_0PvEuj1TaGCN
https://dl.doubtnut.com/l/_1KIZaZsfR0sY
https://dl.doubtnut.com/l/_XZNXi5ZXIGtw


3. Examine whether the following numbers are rational or irrational. Give

the decimal representation of rational numbers : 

Watch Video Solution

(i)√2.56       (ii)2√3        (iii)        (iv)√8
√36

20

4. Give a rational number between 0.272772777 . . . And 0.3.

Watch Video Solution

5. Give a rational number between 0.103 and 0.112111211112 . . . .

Watch Video Solution

6. Give an irrational numbers between `0.505005000 . . . and 0.525225222 .

. . .

Watch Video Solution

https://dl.doubtnut.com/l/_gOCxZJ6QZFzd
https://dl.doubtnut.com/l/_dqAFUEW77Hsm
https://dl.doubtnut.com/l/_rzhoW82NGKNc
https://dl.doubtnut.com/l/_oS8ltvHRH0Rw


7. Find two irrational numbers between 0.6 and 0.66.

Watch Video Solution

8. Find two irrational numbers between 0.2 and 0.23.

Watch Video Solution

9. Find two rational numbers between 0.565665666 . . . and 0.585885888 . .

. .

Watch Video Solution

10. Find two rational numbers between 0.383383338 . . . and 0.404404440

. . . .

Watch Video Solution

https://dl.doubtnut.com/l/_oS8ltvHRH0Rw
https://dl.doubtnut.com/l/_QK8o7uH1EPhC
https://dl.doubtnut.com/l/_X1kulbqGPmEY
https://dl.doubtnut.com/l/_mENszjrNkKx8
https://dl.doubtnut.com/l/_8J74kZ88d8KL


11. Prove that  is irrational.

Watch Video Solution

5 + √3

12. Prove that  is irrational.

Watch Video Solution

3 − √2

13. Prove that  is irrational.

Watch Video Solution

8√5

14. Prove that  is irrational.

Watch Video Solution

2

√3

https://dl.doubtnut.com/l/_8J74kZ88d8KL
https://dl.doubtnut.com/l/_KkP3UWX9MDWq
https://dl.doubtnut.com/l/_HAeAK8chSOES
https://dl.doubtnut.com/l/_1I0Xz46dJ2PJ
https://dl.doubtnut.com/l/_SBga3Cu7cJal


15. Give an example of each, of two irrational numbers
 whose:
 (i)

difference is a rational number.
(ii) difference is an irrational number.
(iii)

sum is a rational number.
(iv) sum is an irrational number.
(v) product is a

rational number.
 (vi) product is an irrational number.
 (vii) quotient is a

rational number.
(viii) quotient is an irrational number.

Watch Video Solution

16. Represent 
on the number line.

Watch Video Solution

√6, √7, √8

17. Represents  on the number line.

Watch Video Solution

√9.3

18. Locate on the number line.√3

https://dl.doubtnut.com/l/_eszfO0eThVHr
https://dl.doubtnut.com/l/_gnPtQQOmqu4z
https://dl.doubtnut.com/l/_MUfJ6v9An4Iy
https://dl.doubtnut.com/l/_5EFPJUCYIo5J


Exercise 1 D

Watch Video Solution

19. Visualise 2.364 on the number line using successive magnification.

Watch Video Solution

20. Visualise  on the number line upto 4 decimal places.

Watch Video Solution

5. 3̄

1. Evaluate each of the following : 

Watch Video Solution

(i)161 / 2         (ii)2431 / 5         (iii)811 / 4

https://dl.doubtnut.com/l/_5EFPJUCYIo5J
https://dl.doubtnut.com/l/_dHCL7H1zr5BU
https://dl.doubtnut.com/l/_n2t2Rr1jwRq7
https://dl.doubtnut.com/l/_eDfhnQmBWxq7


2. Evaluate each of the following : 

Watch Video Solution

(i)43 / 2         (ii)6253 / 4         (iii)813 / 4

3. Simplify : 

Watch Video Solution

(i)3
( ) × ( )

         (ii)( ) × 2
1
3

11
5

1
2

1
5 3

5

4. Evaluate each of the following : 

Watch Video Solution

(i){(81)1 / 5}
5 / 2

           (ii)(3√64)
− 2

         (iii)93 / 2 + 3 × 40 − ( )
−

1

81

(vi)√ + (0.01) − 1 / 2 − (27)4 / 3             (v)( )
2 / 3

+ ( )
− 1 / 41

9

125

64

256

625

https://dl.doubtnut.com/l/_61Nxho10UWok
https://dl.doubtnut.com/l/_Lq9crbhIAjlF
https://dl.doubtnut.com/l/_bwqR3u4i6Lnx


Exercise 1 E

5. Simiplify : 

Watch Video Solution

16 × 2n+ 1 − 4 × 2n

16 × 2n+ 2 − 2 × 2n+ 1

6. Simplify : 

Watch Video Solution

5n+ 4 − 6 × 5n+ 2

9 × 5n+ 1 − 5n+ 1 × 4

7. Find the value of x in each of the following cases : 

 


Watch Video Solution

(i)32x+ 3 = 1            (ii)2x− 5 × 5x− 4 = 5

(iii)22x+ 1 = 22x− 1 + 12            (vi)32x− 3 = 3√3

https://dl.doubtnut.com/l/_JKbwfP7BVUKf
https://dl.doubtnut.com/l/_E0mdHD2ZQdgw
https://dl.doubtnut.com/l/_A7XRfIPDB92e
https://dl.doubtnut.com/l/_aHf58p2JybFc


1. Rationalise the denominator of each the following 

Watch Video Solution

(i)         (ii)            (iii)               (iv)
2

√3

1

3√5

1

√8

√2 + 1

√3

2. Rationalise the denominator of each the of the following : 

Watch Video Solution

(i)          (ii)          (iii)        (iv)
1

3 + √5

1

√5 − √3

16

√41 + 5

30

5√3 + 3√

3. Simplify each of the following : 

Watch Video Solution

(i) +                      (ii) +                  
√2 + 1

√2 − 1

√2 − 1

√2 + 1

√5 + √3

√5 − √3

√5 − √3

√5 + √3

4. If , find the value of the following : 
√2 = 1.414, √3 = 1.732

(i)       (ii)          (iii)
√2 + 1

√2 − 1

√3 − 1

√3 + 1

2 + √6

√2

https://dl.doubtnut.com/l/_aHf58p2JybFc
https://dl.doubtnut.com/l/_gZTHQNqDHQWs
https://dl.doubtnut.com/l/_Ov99lpT4Wiv9
https://dl.doubtnut.com/l/_8L5xLMY6qfyj


Watch Video Solution

5. Find the value of a and b in each of the following 

Watch Video Solution

(i) = a + b√2          (ii) = a − b√2             (iii)
3 + √2

3 − √2

√2 + 1

√2 − 1

5 + 4√

5 − 4√

6. If , then find : 


Watch Video Solution

x = 2 + √3

(i)     (ii)x +      (iii)x −         (iv)x2 +
1

x

1

x

1

x

1

x2

7. If , then find : 


Watch Video Solution

x = 3 + 2√2

(i)     (ii)x +      (iii)x −         (iv)x2 −
1

x

1

x

1

x

1

x2

https://dl.doubtnut.com/l/_8L5xLMY6qfyj
https://dl.doubtnut.com/l/_W6Ek7EHwJjpO
https://dl.doubtnut.com/l/_7Fp8qFCHXNl8
https://dl.doubtnut.com/l/_6qyMVdyKGdKz


8. If  and  find 

Watch Video Solution

x =
√3 + √2

√3 − √2
y =

√3 − √2

√3 + √2
x2 + y2

9. If 

Watch Video Solution

a = 1 − √2, then find the value of (a − )
31

a

10. Evaluate  is being given that 

 and 

Watch Video Solution

15

√10 + √20 + √40 − √5 − √80

√5 = 2.236 √10 = 3.162

11. Write the following surds in descending order of their magnitudes : 

Watch Video Solution

(i)(2) , (3) , (4)                        (ii)(3) , (5) , √2, (10)
1
3

1
6

1
9

1
3

1
4

1
6

https://dl.doubtnut.com/l/_hYYNDYPWlAlK
https://dl.doubtnut.com/l/_xTfylWarpqP2
https://dl.doubtnut.com/l/_u0GBS2dvisw1
https://dl.doubtnut.com/l/_nqeLIAdnmPVN


12. If , then find the value of .

Watch Video Solution

25x− 1 = 52x− 1 − 100 x

13. Which is greater  ?

Watch Video Solution

√11 − √6 or √17 − √12

14. If  then find the value of 

Watch Video Solution

x = 7 − 4√3 √x +
1

√x

15. If , then find the value of .

Watch Video Solution

x = 2 + √3 x4 − 4x3 + x2 + x + 1

16. Simplify √5 + 2√6 + √8 − 2√15

https://dl.doubtnut.com/l/_rEQgdqSvw7JZ
https://dl.doubtnut.com/l/_0sofsKaJF1HT
https://dl.doubtnut.com/l/_Ek39VJPlr9TQ
https://dl.doubtnut.com/l/_MpCiEA5jzQcd
https://dl.doubtnut.com/l/_V5CCI9EjoeBO


Revision Exercise Very Shortanswer Questions

Watch Video Solution

17. If 
, prove that 

Watch Video Solution

=
9n x 32 x 3n −  27n

33m x 23

1

27
m − n = 1

18. Rationalise the denominator of : 

Watch Video Solution

 
2

√5 + √3 + 2

1. Find a rational number between .

Watch Video Solution

and
1

10

1

30

2. Find a rational number between .− and
1

2

1

6

https://dl.doubtnut.com/l/_V5CCI9EjoeBO
https://dl.doubtnut.com/l/_FSq96rmaj87r
https://dl.doubtnut.com/l/_jIlEe6aoF3q1
https://dl.doubtnut.com/l/_AzEUpov5id2L
https://dl.doubtnut.com/l/_OJoRRjb7I71X


Watch Video Solution

3. Express  in the decimal form.

Watch Video Solution

3

4

4. Find the decimal representation of .

Watch Video Solution

4
3

5. Express  in the form of .

Watch Video Solution

0. 5̄
p

q

6. What is the rationalisation factor of  ?

Watch Video Solution

3

√5

https://dl.doubtnut.com/l/_OJoRRjb7I71X
https://dl.doubtnut.com/l/_w5qPnbVBlqYn
https://dl.doubtnut.com/l/_EhLLtHaZmq3Q
https://dl.doubtnut.com/l/_N981ViPtxNHg
https://dl.doubtnut.com/l/_Z7o5mrzlbnjk


Revision Exercise Short Answer Questions

7. What is the rationalisation factor of  ?

Watch Video Solution

1

3 + √5

8. Evaluate : 

Watch Video Solution

[(3√8) − ]
4

.
1

2

9. Simplify .

Watch Video Solution

1

(625) − 1 / 4

10. If . Then find .

Watch Video Solution

x =
1

√3 + √2

1

x

https://dl.doubtnut.com/l/_hQd5frmzQQpn
https://dl.doubtnut.com/l/_3HzNbMuKRYx7
https://dl.doubtnut.com/l/_e5hz5XB8fyOi
https://dl.doubtnut.com/l/_3v4sV8oAo9nE


1. Find two rational numbers between .

Watch Video Solution

− and
1

4

2

5

2. Find three rational numbers between .

Watch Video Solution

and
1

10

2

15

3. Express  in the decimal form.

Watch Video Solution

13

7

4. Express  in the form of .

Watch Video Solution

0. ¯̄̄¯17
p

q

https://dl.doubtnut.com/l/_GzjL1F3nibVb
https://dl.doubtnut.com/l/_w2El6uZtxsNx
https://dl.doubtnut.com/l/_X1kKOdih4nyz
https://dl.doubtnut.com/l/_LCcuZC9u0FeU


5. Express  in the form of .

Watch Video Solution

4. ¯̄̄ ¯̄¯163
p

q

6. Rationalise the denominator : .

Watch Video Solution

5

√11 + 4

7. Simplify : 

Watch Video Solution

− +
1

√3 + √2

1

√3 − √2

2

√2 + 1

8. Represent  on the real line

Watch Video Solution

√2, √3 and √5

9. Represents  on the number line.√9.3

https://dl.doubtnut.com/l/_SLpqSPC4z042
https://dl.doubtnut.com/l/_BzELPm7Qtj2J
https://dl.doubtnut.com/l/_ez5VYa1fxJzf
https://dl.doubtnut.com/l/_au1DTUn9Y6nn
https://dl.doubtnut.com/l/_HlLySwj1Ax4P


Watch Video Solution

10. If , then find the values of a and b.

Watch Video Solution

a + b√5 =
4 − 3√5

4 + 3√5

https://dl.doubtnut.com/l/_HlLySwj1Ax4P
https://dl.doubtnut.com/l/_1FeBGkoyEVFr

